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Problem 9.37 —
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(d) From the solution to Prob. 9.16, the transmitted wave is

B(r,t) = Bgpeferr=2ty  B(r,t) = U—lzflq,.e"“"'"““")(- cosfr & + sinfr 3).
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Using the results in (2): kp - = kz + ikz — wt, sinfp = —, cosfr =i—:
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We may as well choose the phase constant so that E'UT is real. Then
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(I used v9 = ¢/ns to.simplfy B.)
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Averaging over a complete cycle, using {cos?) = 1/2 and (sin cc_rs) =0, (8) = 2mwe_g’” %. On average,

then, no energy is transmitted in the z direction, only in the z direction (parallel to the interface). qed




